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1 qrd q rffi-oc 6rd 3.510 Hact. 140 491.40

2 **q qqr-{ q sr$ oerq 3.510 Hact. 842 2955 42

3 3rfiq frqrEq$ dftirr 3.510 Hact. 41076 144176.76

4 Grhl 1_{r ord o-ri-l 1 0.45 0.45 0.45 5472.000 11 60192.00

5 ffieror eEqT {flrT 3.510 Hact. 698 2449.98

6 fft} +t oTqo qQrq s$ 5472.000 Hact. 9.3 50889.60

7 3IaI qq 3.510 Hact. 1 100 3861.00

o qF w offi rrqqtnT ord 3.510 Hact. 1 8500 64935.00

Ed *rr (uw aw1 329951 .16

1 rrgcT qqrq o-$tT 1 0.45 0.45 0.45 3.510 Hact. 2,47 8.67

2 dsil @t +lqd Bftq s{ 3.510 4.6 16.15

3
fru gem ord (zs qfr{ra tq oen
zs qfratr ug 5472"000 Hact. 12 65664.00

4 dsr tqrT oe;T Qrqflq€ q,r$ 5472.000 Hact. 3 164'16.00

5 Rq{, x_sd oerT qfti-T od 5472.000 Hact. 2 10944.00

6 qng.rqfr-fi sr< q E*qr 5472.000 Hact. 0.3 1641.60

7
is-is q {s-{srcl ord q$ t s
IIE 3.510 Hact. 6860 24478.60

8
qelilw &t 3r-'il.fd qIfr
fltt-s^tt s-erq qrR 3.510 Hact. 556 1951 .56

9
gvar {fot d qrus + fto r.o8
{{ls 6t"II 3.510 Hact. 396 1389.96

10 3Tq qq 3.510 Hact. 1200 4212.00
qd fr.r (Eeo a-w) 126322.54
q-fi-q zqq 3Filrio on-qaur ord 3.510 Hact. 1 0300 36153.00

agrf aror 3ffirff, erE1er"r ord 3.510 Hact. 1 0300 36153.00
qaq qEq Grfl.fd erqqem ots 3.510 Hact 1 0300 36'153.00
qa d.r ([ftq t qqq qgur) 108459.00
{flreq q-{ut 3r-rctid errqaur ord 3.510 Hact. 1 0300 36153.00

rrmq qqq 3mta erqqe{ur od 3.510 Hact. '10300 36153.00
3l6e.q qlnT erf,.fd srfleg od 3.510 Hacti 1 0300 36153.00

ffi qqrr effi.fd 3[qS]nT q;rd 3.510 Hact. 1 0300 36153.00
qyfq il{Tr crorfd U1qA"f +fd 3:510 Hact. "10300 36153.00
{fiflur e}"t q orfl}q-o. fiqfur 25.00 '18000 450000.00

ed frrr(sv-dq t qYH wur) 630765.00
q-6Tqf{ cTfrqro gerRtqur 1195497.70

say 1183516.00

ffif


